[image: C:\Users\hp\Desktop\ask1.jpg][image: C:\Users\hp\Desktop\ask2.jpg]
image1.jpeg
6.1

6.2

6.3

6.4

26 < Chapter 6/Demand Relationships Among Goods

oot gt

o

Solutions
As for all Cobb-Douglas applications, first-order conditions show oc )
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Because > indifference curves are rectangular hyp@x:bples W -8 = constant) own
substitution and cross- substitution effects are of the same proportional size, but in

Since R/ pr>0, arise in Pr means Py, - R rises.

Hence, P;J=1-psR must fall, so J must fall. Hence, 97 /9 Pr<0.
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a.

Yes, Pyr=2p,+p; .
. I
Since p. o C:E ,0C /) Pyr=0.

Since changes in Pg or Praffect only Ppr, these derivatives are also zero.

Amount spent on ground transportation

=PyoB+peT=p, (B+fi-TJ

B

=P,,-GwhereG=B+P’T .
B

Maximize U(B, T, P) subject to PpP + PyB + PiT=1.
This is equivalent to

Max U(G, P) = G’
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Hence: Xja)l( =aa;l=X;

so income effects (in addition to substitution effects) are symmetric.

a. A doubling of all prices does not change relative prices so does not change tangency
to a given indifference curve.

b. Direct application of Euler's Theorem.

c. Follows directly from (b). Since weighted sum is positive (because of the known
negativity of the own substitution effect), "most" derivatives must be positive.

a. This functional form assumes Uyy = 0. That is, the marginal utility of X does not
depend on the amount of ¥ consumed. Though unlikely in a strict sense, this
independence might hold for large consumption aggregates such as "food" and
"housing."

b. Because utility maximization requires MUy / Py = MUy /Py, an increase in
income with no change in Py or Py must cause both X and Y to increase to
maintain this equality (assuming U; > 0 and U; < 0).

c. Again, using MUy / Py = MUy /Py, atise in Px will cause X to fall, MUy to rise.
So the direction of change in MUy / Py is indeterminate. Hence, change inYis
also indeterminate.

d. IfU=x"y?
Myy=ox'y?
Butln U=alnX+fInY
MUy=0/X.
Hence, the first case is not separable, the second is.

a. Example 6.3 gives

X

I
" Py+Px PrtPx Pz

clearly 9X /9 Py ,0X /0 P;<0 so these are gross complements.
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